
https://www.pass2lead.com/s10-210.html
2024 Latest pass2lead S10-210 PDF and VCE dumps Download

 

 

 

S10-210Q&As

Storage Networking Management and Administration

Pass SNIA S10-210 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/s10-210.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SNIA
Official Exam Center

 

 

Latest S10-210 Dumps | S10-210 PDF Dumps | S10-210 Exam Questions                                1 / 5

https://www.pass2lead.com/s10-210.html
https://www.pass2lead.com/s10-210.html
https://www.pass2lead.com/s10-210.html


https://www.pass2lead.com/s10-210.html
2024 Latest pass2lead S10-210 PDF and VCE dumps Download

QUESTION 1

What is a common protocol used in cloud communications? 

A. WebDAV 

B. SCP 

C. HTTP 

D. CDMI 

Correct Answer: C 

 

QUESTION 2

You are asked to secure management access to your SAN devices. 

Which three actions should you perform? (Choose three.) 

A. Disable all unused protocols. 

B. Limit network access. 

C. Create individual access accounts. 

D. Write to the syslog server. 

E. Enable NTP synchronization. 

Correct Answer: ABC 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which RAID level is shown? 

A. RAID 4 

B. RAID 5 

C. RAID 0 

D. RAID 6 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 
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The customer application requires a 50/50 R/W ratio with 100 MBps throughput requirements for each 

direction of the link. The application servers will simultaneously sustain these data rates across all LUNs in parallel. 

Referring to the exhibit, where will the oversubscribed link(s) occur? 

A. Links between hosts and Switch A 

B. Inter-switch link between Switch A and Switch B 

C. Inter-switch link between Switch B and Switch C 

D. Links between Switch C and storage 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 

Which RAID level is shown in the exhibit? 

A. RAID 4 

B. RAID 5 

C. RAID 0 

D. RAID 6 

Correct Answer: D 
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